35
> =

18
> Mg =
1 15 3 27
3 45" 5 45

45 = 32 x 5 |1 {3447t =
stm = 97} glo] Aok gheh. BEalo| A 15 9F 27 Afold]] Q= 4
%9 9] Bl 18 o]t}

B 2 B 57 glojok

A




N A~

10 < x <20 ¢ A=F)

1

.

B2

O]

stolat. (F, x
= oo}

o

q_

2

o

=2

2X3X%X5H
39 Hj$olB 2 x = 12,15,18

=

—
Fol7l B4t T|opEs

x =12
SLx-y=12-5=7

30
X

ek gk -y o] 3




1 1 1
215 v = 244 20x (g3 + 5 + o7 o ) BASRSR U

wo} Bate] 215 Fajolzt,

Ku)
=
39
tlo
£
e

1 1 1
(== ’—‘4):2.4+24><—+24><—+24><1—07+---

103 10°
= 2.4 4 0.024 + 0.00024 4 0.0000024 + - - -
= 24242424 - - -
=242

..o 242-2 240 80
.o 2.42 — 99 — E — 5
whahA Bme} Bake] 2 80 - 33 = 470]c}.




4. ofd Aol L5 & Follob & 2L ARok] 15 & FHEY F
o9 27} 0.5 7k gk, shEA ARG gHe Fotelet.

> &

> =M. 14

B ~

xx15-xx15=05
14 15) 1
X(E_l_o —XXE—O.S
x=9
14

HE2 7] AASHH 9 x 1.5 = 9 x 5 14




x = S (at= 100 013H9] AHA5) A W, 17k W4T} ohI A Fk
57} B a9 o) A% S oteler
=

> F=e: 10

a -
2% 57 A4t obd faHa47} B a 100 0late] 9

ui4= % 900] w4 Al Qlstd Hek,
o2hA, 11-1 =10




